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NUMBER SYSTEM & NUMBER SERIES
WORK SHEET

BOOK SOURCE SPLIT UP

TITLE STD NEW | TERM Exercise
OLD
Number System 8 OLD 1 1.4
9 OLD 2.5,2.6
9 NEW 2 21to2.4
R.S. AGGARWAL | Page No: 3-50, 877 - 883
(2020 Edition)
Squares : (1 to 10) (11 to 20)
102 =100 202 =400
12=1 92 =281 112=121 192 = 361
22=4 82 =64 122 =144 182 =324
32=9 72=49 132=169 172 =289
42=16  62=36 142 =196 162 =256
52=125 152 =225
(21 - 30)
212 =441 302 =900
222 =484 292 =841
232 =529 282 =784
242 =576 272=729
252 =625 262 =676
Cubes : (1 to 15)
13=1 83 =512
25=8 93 =729
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33 =27 103 =1000
43 = 64 113 =1331
53 =125 123 =1728
63 =216 133 =2197
73=343 143 = 2744

153 =3375

Prime numbers (1 to 100)

1-10 —2,3,5,7 — 4
11-20 —11,13,17,19 —4
21 -30 — 23,29 — 2
31-40 — 31, 37 — 2
41 - 50 — 41, 43, 47 — 3
51 - 60 — 53, 59 — 2
61 -70 — 61, 67 — 2
71 -80 —71,73,79 — 3
81 -90 — 83, 89 — 2
91 -100 — 97 —1

Co prime numbers (or) relative prime numbers

If the HCF of two numbers is 1 then the numbers are said to be co-primes
(or) relatively prime.

Twin prime numbers:
If there is present only one composite number between them.

Phythagoren Triplet numbers:

Let a, b, c are three numbers a2 + b2 = ¢2 (is a highest number)
above condition is satisfied, then, a, b, c are called phythagoren triplet
numbers.

Amicable numbers (or) (Friendly numbers)

Consider the numbers 220 & 284

Sum of the divisions of 220 (excluding 220)
=1+2+4+5+10+11+20+22
+44 + 55 + 110 = 284
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sum of the division of 284 (excluding 284)

=1+2+4+71+142=220
Thus sum of divisors of one number excluding it self is the other. such
pair of number called Amicable numbers (or) Friendly numbers.
Kaprekar number:

The represnstention of its square in that base can be split into two parts
where the second part has digits, that add to the original numbers.

FMTUSIT  6T6RTH6IT:
Bm oemideler 15.0uUTeu 1 elelled  IeUCGUGTHTIHGT  FTTLIST
616U B GG LD.

B ML LST 6CI6wIH6I:

B UBT 6TewiHEHHG BLBW @b UG 66w S(HHIHTD DbDH LIST 616wIH6NT
@I ML LIST 61601&56MTGLD.

UgTaged cpeaimer OHTEGS 6IewIsHeir:

Uareged CammHamsd Hlevme| OCFuiujd efemiser LISTHI60 cpeimer HT@Hsa
616U B GG LD.

Bemnig eTewidH6T (Or) [BLL| 6IeRIH6N:

B\mH eTeWIBMNT  UGHHHBMNH FmbHO Db olewienen HalTeHdl LOBOMI(H
eTeuuTen6ml LOM3l oMMl SH(HLD 6T6WIH6NT B)60ImIE, 6160561

Gzl SBIT 6TEUIHEIT:

Q(H 6IWTENN6T GUTHBID DLETH DUBeOB AHUTHHIGNTS LIfldHa  aumd
oTeTHON 6 Fn(HHSHGHF FIOD 6160160 DieU0l6U6eTH6T CHLIMNBT 6T60TH6NMTGLD.

Divisibility Rules:

Divisibility by 2: (2 SO UGLL)
If an even number (&g enL  eT6wT)
Divisibility by 3 :
If sum of the digits divided by 3

BeVSHBMIBNT Fn(BHFHe0 CLIBTEL U@GLIL Geuest(BLD.
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Divisibility by 4 :
If last two digits are divisible by 4.
SMLF BH BeVHBMIBT 4 60 aUGLL Geuewi(BLD.

Divisibility by 5:
If its last digit is either O (or) 5
HMLE BevHHD “0° 9I06VEH 560 (IpIguIBGalemT(HLD.

Divisibility by 6 :
If its divisible by 2 & 3 (@yewi(h BBID cWHBTEO 6uGLL  Couewi(hid)

Divisibility by 7 :
Cross off last digit double it and subtract. Repeat the process. If new

number is divisible by 7, the original number is divided by 7.

smLE QevdsHmd G(H ILESTEHS  OH(peiTen  elewienied  HLHHS
GouewiBd. @b GFWED (penBenUl LewIBHLD WewIBD OCFUIFH DibHSH 61681
7 L6V QUGSLILILLTED (LD 6T6wiamild 7 60 6u@&GLUBLD.

Divisibility by 8 :
If last 3 digits is divisible by 8. seLd cpeip Sevdsmisear 8 60
alGUL  Gouemi(BLD.

Divisibility by 9 :
If the sum of all the digits is divisible by 9. simensa Sevbsnisefe
BP0 9 S0 au@GUL Geuemi(BLD.

Divisibility by 11:

I. subtract the unit digit from the remaining number. If new
number is divisible by 11 (or) new number is zero. The original
numbers is divided by

(or)

II.  sum of the odd digits is equall to the sum of the even digits.
PBOB BDeVHHHMS  LEGH(Lp6iTen  etanienled(hbe HWEGW BCurghl Dibs
olewt 11 9160 aUGUGBID 6TewTertTHGouT DIeLEVSHI LeuIDd  6ubSHTE6OIT,
O _GUIENLOWITET 6160l SenTdhl 11 160 eu@GUBLD.

Divisibility by 13:
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Add 4 times the last digit to the remaining truncated number Repeat
the step as necessary. If the result is divisible by 13 the original number
is also divisible by 13 same process for 17 & 19.

17 - subtract 5 times the last digit from remaining truncated number.
19 - Add 2 times the last digit from remaining truncated number

13 &L60 6UGLIL:

sOLE DESHH 4  IDLMSHD SHHSH  BHUPETeNT  eTewwIenewnIs  Fal L
GouamiBlD. BbsH OCowepammenwl 13 60 Sbd e AUGUBD GBIy
Gouawi(BD. BLOH allewl 13 Led UGLIULLTED SibdH (W) eleniamid 13 &y60
aUGL(BLD.

®6x6umev GlFwed(enBHTer 17 WwBEBID 19 &HELb.

17 — ooLd BevdbsHmd 5 WLRSTEHSH  LOHP6iTen  6Tewienisd S (Hb
&PHH Couem(BLb.

19 — soLdl BevdsHMmSH O(H WLRSTEHS LBSHLPT6N  6TewuIamil 61 Fnl L
Gouewr(pLb.
Bbhs CFLOPmBML SbFH 6160 UGSUBLD 6uUedT (L) 6lewTenllend OCHTLT
Gouemr(pLb.

Natural Numbers:

A natural number is an Integer greater than 0. Natural numbers
begin 1 and increment to infinity: 1, 2, 3,4, 5 ........ etc. These numbers also
called counting numbers.

Whole Numbers:

If zero is included in the collection of Natural numbers (N) we get the
collection of whole Numbers (W), W ={0, 1, 2....}

0 is the smallest whole number

Integers:
% Integers are a collection of Natural numbers, Zero and negative

numbers.

Rational Numbers:
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CHENNAI

% A number that canbe in the form a/b, Where a and b are integers
and b=o is called a rational number.

Irrational Numbers:
% An irrational number is a non-terminating and non-recuring

decimal, i.e. it cannot be written in form g, where p and q are both

integers and q =0.

WORK SHEET
NUMBER SYSTEM & NUMBER SERIES

1. The missing term of the following sequence is 4, 5, ? 40, 104, 229,
SBpuleiten GHTLT auflenguied alBul L etewiewmmengl 4, 5, ?, 40, 104, 229,
a. 6 b. 13 c.14 d. 22

2. What would be the next term of the sequence 2, 5, 9,19, 37, ?
Heteupid OFHTLMled SIbBHaHI aumd o miny ez 2,5,9,19,37,?
a. 67 b. 76 c.75 d. 87

3. Given below are two series with specific pattern What will come in the
plate of (e)?
&8 GaThHdHaLILL Beiten, GBI L o HHHEHLOT dnigul &(H OHTLTH660,
(€)-601 G| HTewIsb. \
a. 173 b. 153 c.171 d. 151
7 13 29 53 113 217
5 a. b, c d (e

4. Insert the missing number.
&Cpuyeiten OHTLT euflenguled alBUL L 6T60T60TT6IS)
2,6,12,20, 30, 42, 56 :
a. 62 b. 72 c. 64 d. 68

5. Find the missing number
&Cpuyeiten OHTLT euflenguled alBUL L 6T60T60TT6IG)
1,3,3,6,7,9,7,12,21
a. 10 b. 11 c.12 d. 13
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6. How can we called the following sequence?

1,1,2,3,5,8,13,21, 34....

a. Ficconabi sequence b. Finocabci sequence

c. Fibonacci sequence d. Finabocci sequence

aeim OHTLT euflengenul LleTeu(hHeueTeuBmIeT 6IaleUTHI SHIMLDSHHEOTD?
a. UBasmeml QgL Teufleng b. BGamamifl GHTLTeuflens
c. UBuneimasl QT iTeufleng d. WemBurd GarLTeuflens

7. Two series are given below with specific pattern.
What will come in the place of (e)?
S8 Osmhdaslu’ L GHRUILL o SHHsEpL6AT gnigul B CFHTLTHeale0 (€)
—601 LDFHLIL] HTCUOTS.
6 18 36 108 216 648
2 (@ (b © (d (¢
a. 482 b. 344 c. 216 d. 420

WRONG NUMBERS SERIES:

8. Find the wrong number in the series.
CETHHBLIULL CHTLT0 DIWIOHSH SHEUMBTE 6CT6RIENENIDH HTEWIH.
2,9, 28, 65,126, 216, 344
a.2 b. 28 c. 65 d. 216

9. Find the wrong number in the series.
CEThHBIULL CHTLIe0 DIEMIOHSH SHEUMBTE 6CT6RIENENIDH HTEWIH.
10, 14, 28, 32, 64, 68, 132
a. 32 b. 132 c. 14 d.6

10. Find out the odd number in the series given 25, 36, 49, 81, 121, 169, 225
LNesteu(pLD eTemidbell OHTL Touflengulled QUT(HHHTH 6T6uTeN6m0IH SHTEMIH.
25, 36,49, 81,121, 169, 225
a. 36 b. 49 c. 169 d. 225

Level -1

11.  Which of the following is a prime number?
BIDSH B UMBMI60 61SH LIST 616001 ?

a. 241 b. 338 c. 391 d. 575
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12.  Sum of three consecutive integers is 45, find the integers

AbHPBSH  AUGD  WID  PWwssaiar  ambHed 45 aaied b
(P(DBHHEM6NE BTN,

a. 15,16,17 b. 14,15,16 c. 13,14,15 d.16,17,18

13. Find the number of prime factor of 1024
1024 &1 usTHBTyeNI BTN  6TemTERNSMB

a.9 b. 10 c. 11 d.12

14. How many prime numbers between 50 to 100.
50 @b 100 HGW DL Cul DIWLOHSIGTEN LIGBT 6160TSH6NT60T 616016001 HeNDH
a.13 b. 9 c.8 d. 10

15. A The sum of a number and its reciprocal is %. Find the numbers.

of o LB OIBE SoadfulE s Es60 %7 srafled  SieGRuGTTEEHT
wimemeu?

a.5 % b. 6, -6 c6 L d. 5-1
5 6 5

16. If one fifth of one third of one fourth of a number is 2 then the number

1s

QT  oTewremiledl eQbPH6L @(hH LM cpeiipsled ¢ LRSI  HT6ISHe0 (T
LUmlG 2 6Tefled 2161106l616u0T

a. 50 b. 60 c. 100 d. 120

17.  Find the number which when multiplied by 15 is increased by 196?
QM eewl  15-60 OupSSLILGL  QuTg 196 HHSOTHBSH  6eled  DiHD
6TGUOTEMGI0TE  ShITGUIN .

a. 14 b. 20 c.26 d. 28
18. (v-a)(v-b)(v-¢c)(v-d)..... (Vv-2z)=

a.v2-v (atb) +ab b.v -v2(at+b) + ab

c.1 d.0

19. Along a yard 225 meters long, 26 trees are planted at equal distance,
one tree being at each end of the yard. What is the distance between
two consecutive trees?
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225 15 penpelien @b (PBBHHET OT ssdhHled BhbHe SmiHaemy 26
LOJMIB6T  FLOOBHTMEVATD  DIEDLOHSHIGTENE  616eN60  alOleUT(H  LOTSHHMEGLD
B Cui o e6ffem FHMIID 6l6leU6T6]?

a. 8 metres b. 9 metres c. 10 metres d. 15 metres

20. The product of two consecutive numbers is 4032. Find the numbers
el OIBSHSBHS eawidaler CUmBHE 4032 6I@fled ObHSH ETEHIHMET
BTG .

a. 61, 62 b. 64, 65 c. 63, 64 d. 62, 63
Level 11

21. The students of a class donated I 4624 for Chief Minister’s State Relief
Fund. Each student donated as many rupees as the number of students
in the class. Find the number of students in the class.

@0 UGLILTND o 66 LoTewIaUTH6T ¢h. 4624-enw1  (1pGHevenioFFiledr  LOMHev
Boumyent HHwTes OCFISHHIT. @alGeUT(H LOTEMI(HD HIH LIRISTS HIH
AUGLILTD o 6o LDTewTeUTHEIN6T  eTeTe0lhenddh@ — FOWTET  OHTensemul
CBTHHHET 6160 UGLILIGD 2 66l LOTENIUTHENT 61&HFHemedr GuLiT?

a. 64 b. 68 c. 62 d.78

22. Mangalam buys a water jug of capacity 3% litre. If she another Jug

which is 2% times as large as the smaller jug, how many litre one
hold?

LDMRISH6YTLD 3% QLLT Osmelenene] OBTewIL eH HewiewiTd & HeneUU|LD,

Slemspll  Cumeim) 2% IDLMIG DHS OFmeenene] OsTewi  LOBOMT(

SHewieniT  GHBemeUU|D THIGHHMTeT 6leie0, Ul GHBemeu eleleueTey GO LT
Hewieniongdh 6HT6TEHLD?

a. 102 b. 1051 c. 102 ] d. 100 1
15 15 15 15

23. In an examination, a student was asked to find % of a certain number.

By mistake, he found %of that number. His answer was 150 more than

the correct answer. The number is:
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24.

25.

26.

27.

|APRE> L]

Gaitalled @ LOTEOIGUGT (I 6IGHIENGNT 3 60 OUHBGUSBSLI LIHOTH
3 ) ) 14 b 315
% L0 QUHBHeTe0 HewLSHGID alenLwmerdl, Filwmer allenlenul &l

150 9185060, Dihs 616w 616316 ?
a. 180 b. 240 c. 280 d. 290

In an examination, a students scores 4 marks for every correct answer
and loses 1 mark for every wrong answer. If he attempts in all 60
questions and secures 130 marks, the number of questions he attempts

correctly, is:
0 GBapTaled eup T  @albeur(h — Fiwmer el &G 4
HICUNIH6T  CUBISBTT.  e6lbleuT(H HeupTen alenL G 1 WHIGILI6wT
GOBHSILBHBEH. 60 Gzealdg alewLwelliuger cpeold SeuT 130
HICUIH6T  OUBBTT elelled SleuT Flwnsd allewLweaildhsd alemodseren
6T600160011E56 5 ?

a. 35 b. 38 c. 40 d. 42

A man earns Rs. 20 on the first day and spends Rs. 15 on the next day.
He again earns Rs. 20 on the third day and spends Rs. 15 on the fourth
day. if he continues to save like this, how soon will he have Rs.60 in

hand?

QH LONBHET  (pHeO Belled ep 20 FLBHBIT. DIBHH HIeT H 15
CFeLaUNHSIMIT.  cpadiBTeudl BHelled h 20 FL(HSMIT. HIeISHTUGH  [HT6I60
ah 15 Ggeveuflsdpri. @6x wrHfl CHTLAHSHTE0, 6THHMeTToIH [BT6N60
SlIrH mdulled ef 60 WL (B B (HeBEGLD?

a. on 17th day b.on27th day c.on30thday d.on 40t day

Level II1

1 1 1 1

§ +——t
1x2 2x3 3x4 99x100

98 100 99 100
a. — . — cC. — d —
99 99 100 101

In a two digit number, the digit in the unit place is twice of the digit in
the tenth place. If the digits are reversed, the new number is 27 more
than the given number. find the number

T mlevdad olewienlled, &AMBTD G Hevdhsd 6lewl, LUSHHTD B &evdd
oTewiememiIBLTEL @(H IOLMISTH 2 6ol EeVHSMIG6T @ 1D  LOTSleunTeD
HLHGD LSHw elewt  OBTHSHSILL L  elewionemiall. 27 SHHID  6T6d60
QamhobsIUL L Fillevdhd oTenTeneirds &6emT(HLIIQS .
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28.

29.

30.

a. 63 b. 36 c. 93 d. 39

Find the sum: 2+ 2+ =+ —+= + 4+ 4+ —+—+—
2 6 12 20 30 42 56 72 90 110 132
. .1 1 1 1 1 1 1 1 1 1 1
Fn[HH6V HMEWI: —+—+—+—F+— +—+—F—F—+——F——
2 6 12 20 30 42 56 72 90 110 132
7 11 15 17
a. — .= c. = d. —
8 12 16 18
3 5 7 9
The sum of the first 99 terms of the series ~+—+—+—+........
4 36 144 400
QT (1pH6e0 99 o mIIH6T6 SnBHe0 HTEWISH. 3.0 TS
4 36 144 400
B ™ S I
100 1000 10000

Kavi and kural each had a number of apples Kavi said to Kural "If you
give me 4 of your apples my number will be thrice yours'. Kural
replied "If you give me 26, my number will be twice yours. How many

did each have with them?

SANUIL(IpID, @M (D ST LIDBIGET o eiTeriedl. b 6le0ld@ 4
LIDRIBHE6TSH HHHT6V, 61N LD 2 616  LIPHIGTI6 6TewienlHend 2 6Tl LD
o oeifemendll GUTeL cpeiBl MG o &l GBelLlD FnplenmT. B eTeIshE
26 UDEIBMENSH  SHHDHT60 66N D 2 6T6M  LIPBIGSET6T 61601601 5HenD,
® alelLld o 6TenmedHIGUT0 B(H WLRISTGHID”, 6160l GHM6T USHeveTleHHTTT.
aTeulled  @eOeUT(HeUTL (D 2 6T LIPMIS6iTeon eTewtenlldbend 6l6ilalena)?

a. 40,12 b. 36, 36 c. 50, 22 d. 57,15
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NUMBER SYSTEM & NUMBER SERIES
WORK SHEET

12,34 56 7 89 10
B C B B D CCD|B A
111211314 15 /16 17 /18 19 1 20
A B B DCDAD B C
2112212312425 26|27 28|29 30
B CC B A C B B C C
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